Efficiency vs dr

x 0.02
J
9.018

D.016H-- -
c

Q L
®.014fH- %
=

9.012F
0.01F
0.008[f
0.006

0.004
0.002

i
T

[ Efficiency vs dr (track,jet) |

0

Wdefault—s

ecPlLess]1

a S
efauft_specPlLess2
Wd e;au t*sE

ecPless3
ecPLess4

TP min AR

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

[y

1072

Efficiency vs pu

1
AR(TP, jét)

5 0.0

o S NI W A
D000 iy
B.008F oot
51 : : : : : :
e BRI RS
= : : : : : :
0,006+ tevteeteer e
R o e
0,004 bordonsdiondd b
T s S
0.002F++bordons oo b
0,001 v

..................

..................

1.0

Ratio

2 4 6 8 10 12 14 16 18 20

Pileup

-1




	Contents
	Page 1


